Historic, Archive Document

Do not assume content reflects current scientific knowledge, policies, or practices.



Men met voren 1915-1916 PRICE LIST 62,09 Uribble Aurseries

TRIBBLE BROS., Props.

Walnut Specialists

Elk Grobe

**

California

OUR NURSERY IS LOCATED FIVE MILES WEST OF LODI

WALNUT TREES

Our Walnut Trees are propagated from scions which we have grafted on large black walnut trees, and these have all produced the finest walnuts of their respective varieties.

FRUIT BUDS

These were taken from the orchard of S. R. Gage, F. P. Gage and the Tribble Orchard at Elk Grove; from the McKindley, Corey and other notable orchards at Lodi and Acampo, and of the newer varieties, Millard Sharpe of Vacaville furnishes these for us.

Booklet on Walnut Culture FREE.

NEW PRICE LIST AND DESCRIPTIVE CATALOG
WILL BE ISSUED IN DECEMBER

Correspondence Invited.

5 at 10, 50 at 100 and 500 at 1000 rates.

APPLES ON APPLE ROOT

			E	Cach	Per 10	Per 100	Per 1000
4	to	6	ft\$	0.20	\$1.50	\$12.00	\$100.00
3	to	4	ft	.15	1.20	10.00	80.00

Summer

Alexander Early Harvest Gravenstein Duchess of Oldenburg Red June Red Astrachan Wagner White Astrachan

Fall

Bismark Rome Beauty Yellow Bellflower McIntosh

Ortley

Winter

Winter						
Arkansas Black Delicious (Stark's) Yel. Newton Pippin York Imperial Siberian Crab Hyslop Crab	Spitzenbur	O*	R. I Gree	ning		
PEAR ON JAPA						
4 to 6 ft	Each \$0.30 \$5 	Per 10 \$2.75 2.25 1.75	Per 100 \$18.00 16.00 9.00	Per 1000 \$150.00 125.00 95.00		
Bartlett B. S. Fox Beurre d'Anjou Beurre Gifford Beurre Bose Howell Beurre Hardy	Chinese In Chinese Fr Water Clapp's Fa Col. Wilde Morelle (T Glout More	nperial ragrant vorite r 'rout) ceau	Doyenne Lawson Madeline P. Barry Winter Ba Winter N	d'Comice artlett elis		
PEAR ON FRENC	H PEAR R	00T (No	ot Blight I	Resistant)		
4 to 6 ft	Each \$0.35 	Per 10 \$2.75 2.25 1.75 ster Comice	Per 100 \$18.00 14.00 9.00 Comet Beurre d'A	Per 1000 \$155.00 110.00 75.00		
Bartlett Beurre Hardy Glout Morceau						
4 to 6 ft	Each \$0.30 25 20	Per 10 \$2.75 2.00 1.75	Per 100 \$22.00 16.00 12.50	Per 1000 \$150.00 130.00 85.00		
Bing Centennial Black Tartarian	Black Oreg Lambert Burbank	on	Early Cha Royal And Reine Hor	pman tense		
4 to 6 ft 3 to 4 ft Early Chinese (Thr man. Sweet, s	ee weeks e	arlier th	an Guigne	or Chap-		
PRUNE AND PLU	ALMO	ND	·			
4 to 6 ft 3 to 4 ft 2 to 3 ft	Each \$0.35 30 25	Per 10 \$2.50 2.00 1.75	Per 100 \$90.00 17.50 15.00	Per 1000 \$165.00 150.00 140.00		
Beauty (very early) Clyman	Burbank Damson Formosa		Climax Diamond Eureka			
Gaviota Hungarian (Gros) Kelsey Satsuma Wickson	Giant Imperial G Green Gage Tragedy Yellow Egg Chinese Re Russian	age	Grand Dul Jefferson Santa Ros Vacaville Cherry Plu	a.		
0	PRUN		Y			
Conquest (Stoneless Ribe de Seargent French	Italian Splendor		Imperial Sugar Silver			
4 to 6 ft	30	\$3.00 2.50	\$25.00 20.00	***************************************		

Gigantic (Burbank's Newest Plum.)

APRICOT ON PEACH AND APRICOT

APRICO	T ON PEAC	CH AND	APRICOT					
	Each	Per 1	0 Per 100	Per 1000				
4 to 6 ft	\$0.30	\$2.00	\$15.00	\$145.00				
2 to 3 ft	25	1.75 1.25	9.00	75.00				
Blenheim	Wenatchee	Moorna	rk Peach	10100				
Blenheim Tilton	Colorado	, MOOI pa	Royal					
	RICOT ON							
7.1			Per 100	Per 1000				
4 to 6 ft	\$0.30	\$3.00	\$25.00	\$200.00				
4 to 6 ft		2.50	20.00	180.00				
2 to 3 ft		2.00	16.00	140.00				
Blenheim	Tilton	Peacl	n	Moorpark				
	PEACH (Fr	reestones	;)					
4 / 0 0	Each	Per 10	Per 100	Per 1000				
4 to 6 It		\$2.25 2.00	\$17.00 15.00	91.10				
2 to 3 ft		1.75	12.00	65.00				
4 to 6 ft	Everbearin	g	Brigg's Re	d May				
Elberta	Carmen	_	Ely Crawf	ord				
Foster	Fay-Elberta	ı	Late Crav	ford				
Mayriower St John	Muir A		Triumph					
Admiral Dewey	Strawberry		Lovell					
· ·	Oklahoma	Beauty						
PEACH	ON PEAC	H (Clin	gstones)					
Levi	McDevitt		Phillips					
Heath	Orange		Indian Blo	od				
Tuscan	McKevitt							
	Each	Per 10	Per 100	Per 1000				
4 to 6 ft	\$0.30	\$2.50	\$18.00	********				
4 to 6 ft	25	2.00	15.00					
J. H. Hale		2.00	20100	***********				
QUINCE								
			Don 100	Day 1000				
4 to 6 ft.	\$0.30	\$2.25	\$17.50	\$160.00				
3 to 4 ft	25	1.75	15.00	125.00				
4 to 6 ft		1.50	12.00	100.00				
Orange Smyrna	Pineapple		Reas Mam	moth				
Smyrna	Van Deman	l.	Champion					
	NECTA							
4 to 6 ft	\$0.30	\$2. 50	\$20.00					
Boston	New White	2.00	Stonwick	***********				
	Large Red		Stanwick					
ALMONE	ON PEAC	H AND	ALMOND					
4 to 6 ft		\$2,50	\$12.00	\$115.00				
3 to 4 ft		2.00	11.50	100.00				
2 to 3 ft		1.75	10.00	80.00				
Drake's Seedling			Ne Plus U					
Nonpareil	Peerless		Texas Prol	ific				
FIG								
4 to 6 ft		\$2.00	\$15.00					
3 to 4 ft		1.75	13.00					
2 to 3 ft		1.25	12.00					
Brown Turkey		Dodra	Mission (bl					
San Pedro Black White Adriatic	White San *Capri		White End (best pres					
		each 10	_					
*(Capri Fig Tree free with each 10 Calimyrna trees.)								

1	PERSIMMON	(Japane	ese)	
4 to 6 ft 3 to 4 ft		\$2.50	\$20.00 17.50	\$175.00 125.00
Hachiya	Mammoth (Tenanashi	Seshio	Hyakume	123.00
	PERSIMMON	(Chine	se)	
4 to 6 ft				
3 to 4 ft		5.00	*********	
2 to 3 ft		4.00	*	
Tamopan—Lar Can be eaten whil requiring thinning	rgest Persimn le hard and fir g.	on kno m. Hea	wn. Non-a	stringent.
0.11 25	OLIV	_3		
Caliper Measure	01.00	67.50	@ CO OO	
1 inch up		\$7.50 6.00	\$60.00 50.00	
5% to 34	60	5.00	40.00	
½ to %		4.00	30.00	
Manzanillo		1.00	00.00	**********
Mission				
Prices o	n Ascolano a	nd Sevil	lano Only	
	Each	Per 10 \$10.00	Per 100	Per 1000
1 inch up caliper		\$10.00	\$80.00	
34 to 1		8.00 7.00	70.00 60.00	
5% to 34 1/2 to 5%		6.00	00.00	
72 10 78				
	GRAPES (Foreign)		
Rooted Vines	\$0.10	\$0.75	\$2.50	\$17.50
Black Ferrera Blue Malvoise Sweetwater Mission	Black More	occo	Tokav	
Blue Malvoise	Cornichon		Black Prin	nce
Sweetwater	Gros Colma	an	Emperor	
Thompson Seedle		ru	Purple	
	Damascus			
AM	ERICAN TAE	BLE GR	APES	
For T	Cable and Unf	ermente	d Juice	
Rooted Vines	\$0.15	\$1.00	\$8.00	
Catawba	Isahella		Agawam	
Concord	Moore's Dia	mond	Moore's E	arlv
Niagara	Isabella Moore's Dia Pierce	onu	Worden	
	WALNUTS (Coodling	c)	
		_		017700
8 to 10 ft	\$0.35	\$2.75	\$20.00	\$175.00 125.00
0 to 8 It		4.40 1.75	15.00 10.00	90.00
6 to 8 ft		1.75	8.00	60.00
California Black	Eastern Bla Royal	ck	Paradox	00.00
WALNU	T ON CALI	FORNIA	BLACK	
	Each	Per 10	Per 100	Per 1000
6 to 8 ft		\$15.00	\$125.00	
4 to 6 ft		12.00	100.00	
3 to 4 ft 2 to 3 ft		$\frac{10.00}{9.00}$	$90.00 \\ 75.00$	
Payne	Mayquette		Knapp	1
/ Woodland	/ Wheeler Fra		rinapp	
			ORNIA BI	LACK
WALNUT ON				
2 1 0 0:	Each	Per 10	Per 100	Per 1000
6 to 8 ft		\$8.00	\$70.00	************
4 to 6 ft		7.00	60.00 50.00	
3 to 4 ft 2 to 3 ft		$6.00 \\ 5.00$	40.00	
2 10 3 11		5.00	10.00	***********

A' Bijou
Leibs Mayette
Peanut

Placentia Calarette
Kerr's Parisienne Butternut
Cut-Leaf Concord
Franquette (best (selected)

	(selected)		
WALNUT ON				
6 to 8 ft	Each \$1.75 1.50 1.25	Per 10 \$12.50 10.00 8.75	Per 100 \$90.00 75.00 60.00	Per 1000 \$800.00 700.00 550.00
2 to 3 ft	1.00	7.50	50.00	450.00
Eureka Treyve Westfall Wilson's Wonder	Meylan Tribble or K Mayette Elmonte	Cerr C	lady alavette	
	AFTED ON			AN
12 to 14 ft	\$2.25	\$18.00		
10 to 12 ft	2.00	17.50		
8 to 10 ft	1.75	15.00		
4 to 6 ft	1.50	19.00	100.00	
3 to 4 ft	1.25	10.00	90.00	
2 to 3 ft	1.00	9.00	80.00	
Stuart Delmas	Pabst Success Moneymaker	So Fi	chley cotscher	
	v			•
	PECAN SEE			
20%	discount on	tnese pri	ces.	
10 to 12 ft 8 to 10 ft 6 to 8 ft 4 to 6 ft	\$0.75	\$5.00	\$40.00	
6 to 8 ft	40	3.50	30.00	
4 to 6 ft	40	3.00	27.50	
Grown from F	ancy Pecans.			
С	HESTNUT SE	EEDLING	S	
4 to 6 ft 3 to 4 ft	\$0.40	\$3.50		
3 to 4 ft American Sweet				***************************************
		Ţ.	anish	
	RTS (Import			
3 to 4 ft	\$0.60	\$5.00	\$40.00	
2 to 3 ft Barcelona		4.00	30.00	
Barcelona	Du Chilly	AV	ellena	
Prices of Orang	e, Lemon and	Pomeio	on Appli	cation.
	POMEGRA			
4 to 5 ft 3 to 4 ft	\$0.60	\$5.00	\$40.00	
3 to 4 ft 2 to 3 ft		4.00	25.00	
Wonderful	Swoot Emite	0.00 A Sn		hv.
				o y
	JAT (Budded	and Bal	led)	
2 to 3 ft				
Advance	Champagne Early Red	Pr	emier	
	BERRY PL	ANTS		
Tips	\$0.10	\$0.50	\$3.00	\$25.00
Himalaya Giant	Mammoth H			

PHENOMENAL BERRY

\$0.75 5.00

\$35.00

Tips\$0.20

BLACKBERRY

1 year	\$0.10	\$0.75	\$2.50	\$15.00				
Crandall Gardena Dewberry								
RASPBERRY (Red) 1 year\$0.10 \$0.75 \$2.50 \$15.00								
1 vear	\$0.10	\$0.75	\$2.50	\$15.00				
California Surp r ise	King Cuthbert		Hansel Superlative					
RASPBERRY (New)								
1 year	\$0.25	\$1.75	\$7.50					
Superlative	Royal Purple St. Regis		Idaho					
RA	SPBERRY (B	lack C	Caps)					
1 year and tips	\$0.15	\$0.75	\$3.00	\$20.00				
Gregg Souhegan	Plum Farmer Kansas	r	Mammoth C Cumberland	luster				
	GOOSEBE							
1 year	\$0.20	\$2.00	\$10.00					
Downing	Oregon Cham Josselyn	pion	Houghton					
	CURRAN							
1 year	\$0.15	\$1.25	\$8.00	******				
Red Dutch Black Naples	Cherry		Fay's Proli	fie				
	STRAWBE							
1 year		\$0.25	\$1.00	\$ 5.00				
Dollar Magoon	Jessie Wm. Belt Evening Star		Hood River Early Ozar					
STRAWBERRY	(Ever-Bearin	ig and	New Varie	ties)				
1 year		\$0.75	\$3.00					
Patagonia	Pan-America: Progressive	n	Productive					
Superb	Progressive		Gold Mine					
	ASPARAC							
1 year		\$0.50	\$1.50	\$10.00				
Palmetto	Conovers		Snowhead					
	RHUBARB							
Divisions	\$0.15	\$1.00	\$8.00					
Victoria	Winter		Strawberry	6.13.0				
Burbank Crimson	Monarch			neus				
	RHUBARB	(New)						
Subdivisions	\$0.75	\$6.00	\$40.00					
Burbank's Giant								
Wagner's Giant HORSERADISH 1 year								
	HORSERA	DISH	\$2.50					
1 year	\$0,10	\$0.50 I	European Gi	ant				